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It is fit for sprinkling -nY991H MIRT

OVERVIEW

The X713 asked why do we say that there will be a major loss by wine (as opposed
to oil [where it can be used for fuel]), but wine can also be used for m>°1. Our
nmooIn explains why indeed wine can be used for 7791 if it needs to be burnt.

Mmoo anticipates a difficulty:
- 119593 NNPO 7MINT 2N Y N

Even though that 718w 72190 needs to be burnt; how can we say that it is 772°1% *1%1?

mooIn responds:
- 27!‘11:‘,7 MAPY MININ NOIY NDYIYD MNRIN (3,55 91 NINNT NN P92 12PONT 1D

Since the mw»n concludes in the last P92 of m=vwan noon; whatever is fit for
burning (the fruits) should be burnt, whatever is fit for burial (the juices) should

be buried; it is evident that we need to destroy the item in whichever way feasible -
1919519 N DINIA NIV IND 993 1T NI

So the same applies in this situation with wine; since it is 719°% X" we can
destroy it through m>°1.

SUMMARY
m19°1 is alternate method of destroying, together with burning and burying.

THINKING IT OVER

How can we reconcile this mooIn [and the X3 (which states that we can do |21
by XY 7m0 Hw )] and what was cited in the previous &7 71"7 Moo footnote # 3
from R,775 Naw noon that 27 ruled that it is a M¥A to burn ARAY TMN?!L°

"' The mwn in 2,39 77N states; TRV 91N AIW° 70D PAN POIWIT 17 19X,

% The mwn there continues; NXY PNIWY MY 197TW DX DI KON T2 [ARHY AWM 9> 7052 AN POIWIT 171 19K1]
q23p° 12pn? 1977w, It would appear that the words aRnv 7901 go together with 21 777vm (but not with noo2a yan
A7w°). The reason M?°7 is not mentioned there is because 0?21 7177y are X172 POK, however by 8nw 77170, which
is IRI72 A (while it is being destroyed), 7127 will be permitted.

? See XMWY 727,
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